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Ve AL R

EFRAS R H S
2022 4 2 H
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.205 0.008 &
LA i 1.512 0.016 - 0.438 0.067 =
/L&, (HCI) 4,545 0.003 - 0.232 0.081 =
mIbE (HF) 0.306 0.000 - 0.076 0.032 s
— &b (SO2) 15.147 0.000 - 2.930 1.069 =
—4&bi% (CO) 7.578 0.001 - 0.126 0.036 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.784 - 3.994 1.317 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.006 - 0.031 0.010 &
LA 0.756 0.027 - 0.094 0.067 =
/L4, (HCD 0.756 0.064 - 0.102 0.082 =
wAbE (HF) 0.072 0.031 - 0.033 0.032 s
—&AbiR (SO2) 3.789 0.853 - 1.399 1.063 =
—&Ei% (CO) 3.789 0.015 - 0.057 0.037 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.984 - 1.632 1.344 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0049 &
IR R g ) 7.575 x 10°° <5.389 x 1020 &
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EFRAS R H S
2022 4 2 H
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.048 0.004 &
LA i 1.512 0.005 - 0.416 0.045 =
/L4, (HCI) 4,545 0.053 - 0.678 0.285 =
mIbE (HF) 0.306 0.000 - 0.092 0.039 s
—&AERi (SO2) 15.147 0.006 - 7.284 2.009 TE
—4&bi% (CO) 7.578 0.000 - 0.116 0.041 =
HELY (NOx)
PLI—&/EE (NO2) 30.303 0.806 - 14.643 2.035 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.008 0.004 &
HEA T 0.756 0.017 -0.111 0.045 =
/L4, (HCD 0.756 0.152 - 0.437 0.289 =
wAbE (HF) 0.072 0.008 - 0.048 0.039 =
— &b (SO2) 3.789 1.307 - 2.355 2.009 =
—&Ei% (CO) 3.789 0.018 - 0.067 0.041 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.122 - 3.302 2.027 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0001 =
R A 0.0378 <0.0047 &
IR R g ) 7.575 x 107 <5.181 x 1010 =
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EFRAS R H S
2022 4 2 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 - 0.007 0.002 &
LA i 1.512 0.015 - 0.298 0.071 =
/L4, (HCI) 4.545 0.099 - 0.494 0.251 =
mIbE (HF) 0.306 0.007 - 0.075 0.040 =
— &b (SO2) 15.147 0.018 - 2.748 1.714 =
—4&bi% (CO) 7.578 0.001 - 0.115 0.056 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.879 - 6.027 1.940 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.001 - 0.002 0.002 &
LA 0.756 0.043 - 0.106 0.071 =
/L4, (HCD 0.756 0.179 - 0.334 0.252 =
wAbE (HF) 0.072 0.027 - 0.044 0.040 =
&R (SO2) 3.789 1.422 - 2.140 1.716 =
—&Ei% (CO) 3.789 0.018 - 0.086 0.056 g
HAY (NOx)
DL=%AEE (NO2) 15.147 1.144 - 3.476 1.927 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0055 &
IR R g ) 7.575 x 107 <6.305 x 1020 &
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EFRAS R H S
2022 4 2 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.136 0.006 &
LA i 1.512 0.028 - 0.582 0.067 =
/L4, (HCI) 4,545 0.008 - 0.408 0.185 =
mIbE (HF) 0.306 0.002 - 0.065 0.035 s
— &b (SO2) 15.147 0.000 - 2.754 1.514 =
—4& kbR (CO) 7.578 0.001 - 0.161 0.070 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.724 - 12.263 1.597 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.004 - 0.017 0.006 &
LA 0.756 0.037 - 0.158 0.068 =
Z/LE (HCI) 0.756 0.098 - 0.312 0.183 s
wAbE (HF) 0.072 0.032 - 0.041 0.035 s
&R (SO2) 3.789 1.001 - 1.921 1.515 =
—&Ei% (CO) 3.789 0.033 - 0.096 0.070 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.022 - 2.439 1.605 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0004 =
S SE VAR 0.003789 <0.0014 =
R A 0.0378 <0.0064 &
IR R g ) 7.575 x 10°° <6.929 x1020 &
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